

$$1) i) 13x$$

$$ii) 3x$$

$$2) i) -9x + 3x + 4x \\ = -2$$

$$ii) 18pq - 15pq + 3pq \\ = 6pq$$

$$3) i) 3m + 12m - 5m \\ = 10m$$

$$ii) 7n^2 - 9n^2 + 3n^2 \\ = n^2$$

$$4) i) a + b \text{ and } 2a + 3b \\ a + b + 2a + 3b \\ (a + 2a) + (b + 3b) \\ = 3a + 4b$$

$$ii) 2x + y \text{ and } 3x - 4y \\ = 2x + y + 3x - 4y \\ = (2x + 3x) + (y - 4y) \\ = 5x - 3y$$

$$5) i) 3x + 8y + 7z, 6y + 4z - 2x \text{ and } 3y - 4x + 6z$$

$$= 3x + 8y + 7z + 6y + 4z - 2x + 3y - 4x + 6z$$

$$= (3x - 2x - 4x) + (8y + 6y + 3y) + (7z + 4z + 6z) \\ = -3x + 17y + 17z$$

$$\begin{aligned} \text{ii)} \quad & 3a + 5b + 2c + 2a + 3b - c + a + b + c \\ & = (3a + 2a + a) + (5b + 3b + b) + (2c - c + c) \\ & = 6a + 9b + 2c \end{aligned}$$

$$\begin{aligned} \text{6) i)} \quad & x \text{ and } 3y \\ & = x + 3y \end{aligned}$$

$$\begin{aligned} \text{ii)} \quad & -2a \text{ and } +5 \\ & = -2a + 5 \end{aligned}$$

$$7) \quad \text{The sides of triangle} = 2x + 3y + x + 5y + 7x - 2y$$

$$\begin{aligned} & \text{Its perimeter} \\ & = 2x + 3y + x + 5y + 7x - 2y \\ & = (2x + x + 7x) + (3y + 5y - 2y) \\ & = 10x + 6y \end{aligned}$$

$\therefore$  So, the perimeter of the triangle is  $10x + 6y$ .

$$\begin{aligned} 8) \quad \text{Perimeter of rectangle} & = 2 \times (\text{sum of adjacent sides}) \\ & = 2 \times ((6a + 9b) + (8a - 4b)) \\ & = 2 \times (14a + 5b) \\ & = 28a + 10b \end{aligned}$$

$\therefore$  So, the perimeter of rectangle is  $28a + 10b$ .

$$\begin{aligned} 9) \quad \text{i)} \quad & 2a + b, a + b \\ & = 2a + b - (a + b) \\ & = 2a - a + b - b \\ & = a \end{aligned}$$

$$\begin{aligned} \text{ii) } & p+2, 1 \\ &= (2-1) + p \\ &= 1 + p \end{aligned}$$

$$\begin{aligned} \text{10) i) } & 8 - x - (4x) \\ &= 8 - 5x \end{aligned}$$

$$\begin{aligned} \text{ii) } & \cancel{8c} - (c + 3d) \\ &= 8c + 3d - (c + 3d) \\ &= 7c \end{aligned}$$